

On the level of projective spaces.

Autor(en): **Pfister, A. / Stolz, S.**

Objektyp: **Article**

Zeitschrift: **Commentarii Mathematici Helvetici**

Band (Jahr): **62 (1987)**

PDF erstellt am: **10.07.2024**

Persistenter Link: <https://doi.org/10.5169/seals-47349>

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern.

Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden.

Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

On the level of projective spaces

A. PFISTER and S. STOLZ

Introduction

In this note we provide estimates for the level of projective spaces. Parts of these results are known [V], but we have not seen complete proofs in the literature. We hope to stimulate interest in the question of calculating the exact level which seems to be both attractive and difficult.

By definition (see [DL]), the level of a topological space X with a fixed point free involution i is the number

$$s(X, i) = \min \{n : \text{there exists a } \mathbb{Z}/2\text{-equivariant map } f : X \rightarrow S^{n-1}\}.$$

Here we think of X and the standard $(n - 1)$ -sphere S^{n-1} as spaces with a $\mathbb{Z}/2$ -action given by the involution i resp. the antipodal involution.

A continuous map $f : Y \rightarrow Z$ between two spaces with G -action is called G -equivariant if $f(gy) = gf(y)$ for all $g \in G, y \in Y$. The Borsuk–Ulam theorem implies $s(S^{n-1}, -) = n$ for any $n \geq 1$. Further results on the level, in particular for Stiefel manifolds, are to be found in [DL]. In the earlier topological literature (see e.g. [CF]) the number $s - 1$ was used under the name “coindex”.

In this paper we consider real (resp. complex) projective spaces $\mathbb{R}P^n$ (resp. $\mathbb{C}P^n$). For n even there are no fixed point free involutions on $\mathbb{R}P^n$ and $\mathbb{C}P^n$ since their Euler characteristic is odd, but the Euler characteristic of a space with a fixed point free involution is twice the Euler characteristic of its quotient space (see for example [S, p. 481, Th. 1]). On $\mathbb{R}P^{2m-1}$ (resp. $\mathbb{C}P^{2m-1}$) we have the following fixed point free involution i (resp. j): To define i write $\mathbb{R}P^{2m-1}$ as $\mathbb{R}P^{2m-1} = S^{2m-1}/\mathbb{Z}/2$ where $\mathbb{Z}/2$ acts by the antipodal involution. Multiplication with the complex number i gives a $\mathbb{Z}/4$ -action on $S^{2m-1} \subset \mathbb{C}^m$ which induces a $\mathbb{Z}/2$ -action on the quotient space $\mathbb{R}P^{2m-1}$. Analogously left multiplication by the quaternion j gives a $\mathbb{Z}/4$ -action on $S^{4m-1} \subset \mathbb{H}^m$ (\mathbb{H} = quaternions), which induces a $\mathbb{Z}/2$ -action on the quotient space $\mathbb{C}P^{2m-1} = S^{4m-1}/S^1$.

THEOREM. $m + 1 \leq s(\mathbb{R}P^{2m-1}, i) \leq \frac{1}{2}(3m + 1)$ and $2m + 1 \leq s(\mathbb{C}P^{2m-1}, j) \leq 3m$ for all $m \in \mathbb{N}$.

We thank P. E. Conner and M. Kreck for valuable comments.

1. The lower estimate for $s(\mathbb{R}P^{2m-1}, i)$

We obtain restrictions to the existence of a $\mathbb{Z}/2$ -equivariant map $f: \mathbb{R}P^{2m-1} \rightarrow S^{n-1}$ by analyzing the corresponding map between orbit spaces $\bar{f}: \mathbb{R}P^{2m-1}/\mathbb{Z}/2 \rightarrow S^{n-1}/\mathbb{Z}/2$ and its induced map in K -theory. This gives the lower estimate for m even. Finally the case m odd is reduced to the case m even by taking the join of two equivariant maps.

We use the following notation: Given a $\mathbb{Z}/2$ -equivariant map $f: \mathbb{R}P^{2m-1} \rightarrow S^{n-1}$, we denote by $\tilde{f}: S^{2m-1} \rightarrow S^{n-1}$ the composition of f with the projection map $S^{2m-1} \rightarrow \mathbb{R}P^{2m-1}$. The map \tilde{f} is $\mathbb{Z}/4$ -equivariant with respect to the action of $\mathbb{Z}/4$ on S^{2m-1} (resp. S^{n-1}) given by multiplication by i (resp. -1). We denote by $\bar{f}: S^{2m-1}/\mathbb{Z}/4 \rightarrow S^{n-1}/\mathbb{Z}/4 = \mathbb{R}P^{n-1}$ the map induced by \tilde{f} on the orbit spaces. The orbit space $S^{2m-1}/\mathbb{Z}/4$ is an example of a lens space and is usually denoted by $L^{2m-1}(4)$. More generally the lens space $L^{2m-1}(k)$, $k \in \mathbb{N}$, is defined to be the orbit space of the \mathbb{Z}/k -action on $S^{2m-1} \subset \mathbb{C}^m$ given by multiplication by the k -th root of unity $e^{2\pi i/k} \in \mathbb{C}$. Note that for $n = 2t$, $\mathbb{R}P^{n-1}$ is the lens space $L^{2t-1}(2)$. Let $H \searrow \mathbb{C}P^{m-1}$ be the Hopf bundle over the complex projective space and let $H_k \searrow L^{2m-1}(k)$ be the pull back of H by the natural projection map $L^{2m-1}(k) = S^{2m-1}/\mathbb{Z}/k \rightarrow \mathbb{C}P^{m-1} = S^{2m-1}/S^1$. Denote by $\eta \in K(\mathbb{C}P^{m-1})$ (resp. $\eta_k \in K(L^{2m-1}(k))$) the elements represented by H (resp. H_k).

The complex K -theory of lens spaces is well-known (see for example [K, p. 192, 2.12]):

As a ring $K(L^{2m-1}(k)) = \mathbb{Z}[\sigma_k]/(1 - (1 + \sigma_k)^k, \sigma_k^m)$, where $\sigma_k = \eta_k - 1$.

LEMMA. *Let $f: \mathbb{R}P^{2m-1} \rightarrow S^{2t-1}$ be a $\mathbb{Z}/2$ -equivariant map and let $\bar{f}: L^{2m-1}(4) \rightarrow L^{2t-1}(2)$ be the induced map of orbit spaces. Then $\bar{f}^*(\eta_2) = \eta_4 \cdot \eta_4$.*

Proof. We have to construct a bundle map $\bar{F}: H_4 \otimes H_4 \rightarrow H_2$ covering \bar{f} . To do this we use the explicit description of $H_k \searrow L^{2m-1}(k)$ and $H \searrow \mathbb{C}P^{m-1}$ as “associated vector bundles”: let G be the group \mathbb{Z}/k or S^1 and let $\rho: G \times V \rightarrow V$ be a representation of G on some complex vector space V . Then the projection map $S^{2m-1} \times V \rightarrow S^{2m-1}$ is G -equivariant with respect to the diagonal action on $S^{2m-1} \times V$. The induced map on the orbit spaces $(S^{2m-1} \times V)/G \rightarrow S^{2m-1}/G$ is the projection map of a complex vector bundle called the vector bundle associated to the representation ρ . With this terminology, the Hopf bundle H over $\mathbb{C}P^{m-1} = S^{2m-1}/S^1$ is the bundle associated to the standard 1-dimensional representation $\alpha: S^1 \times \mathbb{C} \rightarrow \mathbb{C}$, $(z, v) \mapsto z \cdot v$, and $H_k \searrow L^{2m-1}(k) = S^{2m-1}/\mathbb{Z}/k$ is obtained by

restricting α to a representation α_k of $\mathbb{Z}/k \subset S^1$. The above construction is compatible with tensor products. In particular $H_4 \otimes H_4 \searrow L^{2m-1}(4)$ is the vector bundle associated to the representation $\alpha_4 \otimes \alpha_4: \mathbb{Z}/4 \times \mathbb{C} \otimes \mathbb{C} \rightarrow \mathbb{C} \otimes \mathbb{C}$. It is easy to check that

$$\begin{aligned} \bar{F}: H_4 \otimes H_4 = (S^{2m-1} \times \mathbb{C} \otimes \mathbb{C})/\mathbb{Z}/4 &\rightarrow H_2 = (S^{2t-1} \times \mathbb{C})/\mathbb{Z}/2 \\ [x, z \otimes z'] &\mapsto [\bar{f}(x), z \cdot z'] \end{aligned}$$

is a well defined bundle map covering f . Q.E.D.

For abbreviation write $s(m) = s(\mathbb{R}P^{2m-1}, i)$. We now proceed to the proof of $s(m) > m$ for m even: Let $f: \mathbb{R}P^{2m-1} \rightarrow S^{2t-1}$ be a $\mathbb{Z}/2$ -equivariant map, where t is as small as possible, i.e. $2t = s(m)$ resp. $s(m) + 1$ for $s(m)$ even resp. odd. The lemma implies $\bar{f}^*(\sigma_2) = \bar{f}^*(\eta_2 - 1) = \eta_4 \cdot \eta_4 - 1 = (1 + \sigma_4)^2 - 1$ and hence the (additive) order of $(1 + \sigma_4)^2 - 1 \in \mathbb{Z}[\sigma_4]/(1 - (1 + \sigma_4)^4, \sigma_4^m)$ is a divisor of the order of $\sigma_2 \in \mathbb{Z}[\sigma_2]/(1 - (1 + \sigma_2)^2, \sigma_2^t)$. The following computation of the orders of $(1 + \sigma_4)^2 - 1$ (resp. σ_2) then implies $t - 1 \geq [m/2]$ and hence $s(m) \geq 2t - 1 \geq m + 1$ for m even (for a real number a , $[a]$ is defined as $\max \{n \in \mathbb{Z} \mid n \leq a\}$).

LEMMA. i) *The additive order of $(1 + \sigma_4)^2 - 1 \in \mathbb{Z}[\sigma_4]/(1 - (1 + \sigma_4)^4, \sigma_4^m)$ is $2^{\lfloor m/2 \rfloor}$*

ii) *The additive order of $\sigma_2 \in \mathbb{Z}[\sigma_2]/(1 - (1 + \sigma_2)^2, \sigma_2^t)$ is 2^{t-1} .*

Proof. i) To evaluate the order of an element of $\mathbb{Z}[\sigma_4]/(1 - (1 + \sigma_4)^4, \sigma_4^m)$ represented by a polynomial $p \in \mathbb{Z}[\sigma_4]$ with vanishing constant term we expand the quotient $p/(1 - (1 + \sigma_4)^4)$ as a power series $\sum_{i=0}^{\infty} a_i \sigma_4^i$, $a_i \in \mathbb{Q}$. Then p is contained in the ideal generated by $1 - (1 + \sigma_4)^4$ and σ_4^m if and only if a_0, \dots, a_{m-2} are integers. Hence the order of p is given by l.c.m. {denominators of a_0, \dots, a_{m-2} }.

In particular for $p = (1 + \sigma_4)^2 - 1$ we obtain:

$$\begin{aligned} \frac{(1 + \sigma_4)^2 - 1}{1 - (1 + \sigma_4)^4} &= \frac{-1}{1 + (1 + \sigma_4)^2} = \frac{-1}{2 + 2\sigma_4 + \sigma_4^2} = \frac{-(2 - 2\sigma_4 + \sigma_4^2)}{(2 + \sigma_4^2)^2 - 4\sigma_4^2} \\ &= \frac{1}{4}(-2 + 2\sigma_4 - \sigma_4^2) \frac{1}{1 + \frac{\sigma_4}{4}} = \frac{1}{4}(-2 + 2\sigma_4 - \sigma_4^2) \sum_{k=0}^{\infty} (-1)^k \frac{1}{2^{2k}} \sigma_4^{4k}, \end{aligned}$$

$$\text{order of } (1 + \sigma_4)^2 - 1 = \begin{cases} 2^{2k+1} & \text{for } m - 2 = 4k, 4k + 1 \\ 2^{2k+2} & \text{for } m - 2 = 4k + 2, 4k + 3 \end{cases} = 2^{\lfloor m/2 \rfloor}$$

ii)

$$\frac{\sigma_2}{1 - (1 + \sigma_2)^2} = \frac{-1}{2 + \sigma_2} = -\frac{1}{2} \sum_{k=0}^{\infty} (-1)^k \frac{1}{2^k} \sigma_2^k,$$

order of $\sigma_2 = \text{l.c.m. } \{2^{k+1}, 0 \leq k \leq t - 2\} = 2^{t-1}$. Q.E.D.

To complete the proof of $s(m) \geq m + 1$ for m odd, recall the definition of the join $X * Y$ of two topological spaces X, Y : $X * Y$ is the quotient space of $X \times [0, 1] \times Y$ by the equivalence relation $(x, 0, y) \sim (x', 0, y)$, $(x, 1, y) \sim (x, 1, y')$ for all $x, x' \in X, y, y' \in Y$. Given two real (resp. complex) vector spaces V, W the join $S(V) * S(W)$ of the corresponding spheres can be identified with $S(V \oplus W)$. Moreover, this identification is compatible with the $\mathbb{Z}/2$ -action given by multiplication by -1 (resp. the \mathbb{Z}/k -action given by multiplication by $e^{2\pi i/k}$). In particular, if there were a $\mathbb{Z}/2$ -equivariant map $f: \mathbb{R}P^{2m-1} \rightarrow S^{m-1}$ we would obtain, by taking the join of the $\mathbb{Z}/4$ -equivariant map $\tilde{f}: S^{2m-1} \rightarrow S^{m-1}$ with itself, a $\mathbb{Z}/4$ -equivariant map $\tilde{f} * \tilde{f}: S^{2m-1} * S^{2m-1} = S^{4m-1} \rightarrow S^{m-1} * S^{m-1} = S^{2m-1}$ and hence by passing to the quotient a $\mathbb{Z}/2$ -equivariant map $\mathbb{R}P^{4m-1} \rightarrow S^{2m-1}$ contradicting our estimate $s(2m) \geq 2m + 1$.

2. The upper estimate for $s(\mathbb{R}P^{2m-1}, i)$

For this we use quadratic forms in order to construct an equivariant map $f: \mathbb{R}P^{2m-1} \rightarrow S^{r-1}$ with $r = 3t$ for $m = 2t$ and $r = 3t + 2$ for $m = 2t + 1$. We use the following notation:

$\varphi_1, \dots, \varphi_r$ are complex quadratic forms in the complex variables z_1, \dots, z_m . The imaginary part $\text{Im } \varphi_k(z_1, \dots, z_m)$ is a real quadratic form in the real variables x_j, y_j ($j = 1, \dots, m$), denoted by $q_k(z) = q_k(x, y)$ ($k = 1, \dots, r$). Obviously, $q_k(iz) = -q_k(z)$ and $q_k(\lambda z) = \lambda^2 q_k(z)$ for $\lambda \in \mathbb{R}^*$. Suppose that the system $q = (q_1, \dots, q_r)$ is anisotropic, i.e. $q_1(z) = \dots = q_r(z) = 0$ implies $z = 0$ resp. $x = y = 0$. Then q defines an equivariant map $f: \mathbb{R}P^{2m-1} \rightarrow S^{r-1}$ given by $f([z]) = q(z) / \|q(z)\|$. It remains to find appropriate forms $\varphi_1, \dots, \varphi_r$.

a) $m = 1, r = 2$: Take $\varphi_1(z) = z_1^2, \varphi_2(z) = iz_1^2$. Then $q_1(z) = q_2(z) = 0$ implies that φ_1 is both real and pure imaginary, hence $\varphi_1 = 0$ and $z_1 = 0$. Thus, the system $q = (q_1, q_2)$ is anisotropic.

b) $m = 2, r = 3$: Take $\varphi_1(z) = 2z_1z_2, \varphi_2(z) = z_1^2 - z_2^2, \varphi_3(z) = i(z_1^2 + z_2^2)$. These 3 forms satisfy the identity $\varphi_1^2 + \varphi_2^2 + \varphi_3^2 \equiv 0$. Therefore $q_1(z) = q_2(z) = q_3(z) = 0$ implies that $\varphi_1(z), \varphi_2(z), \varphi_3(z)$ are real and then $\varphi_1(z) = \varphi_2(z) = \varphi_3(z) = 0$ which gives $z_1 = z_2 = 0$. This shows that the system $q = (q_1, q_2, q_3)$ is anisotropic.

Remark. The induced equivariant map $\mathbb{R}P^3 \rightarrow S^2$ is related to (but not directly derived from) the well-known Hopf map $S^3 \rightarrow S^2$.

c) $m = 2t, r = 3t$: Take (for $k = 1, \dots, t$)

$$\varphi_{3k-2}(z) = 2z_{2k-1}z_{2k}, \varphi_{3k-1}(z) = z_{2k-1}^2 - z_{2k}^2, \varphi_{3k}(z) = i(z_{2k-1}^2 + z_{2k}^2)$$

Part b) shows that the induced real system $q = (q_1, \dots, q_r)$ is anisotropic.

d) $m = 2t + 1, r = 3t + 2$: Take $\varphi_1, \dots, \varphi_{3t}$ as in c) (depending only on the variables z_1, \dots, z_{2t}) and take $\varphi_{3t+1}(z) = z_m^2, \varphi_{3t+2}(z) = iz_m^2$ as in a). Then clearly the induced system $q = (q_1, \dots, q_r)$ is again anisotropic.

This proves the upper estimate $s(m) \leq \frac{1}{2}(3m + 1)$ for all $m \in \mathbb{N}$.

3. The estimate for $s(\mathbb{C}P^{2m-1}, j)$

Let $z = (z_1, z_2, \dots, z_{2m-1}, z_{2m}) \in \mathbb{C}^{2m}$ and let $q(z) = (z_1\bar{z}_2, |z_1|^2 - |z_2|^2, \dots) \in (\mathbb{C} \times \mathbb{R})^m = \mathbb{R}^{3m}$. q induces a map $f: \mathbb{C}P^{2m-1} \rightarrow S^{3m-1}$ defined by $f([z]) = q(z)/\|q(z)\|$. f is $\mathbb{Z}/2$ -equivariant with respect to the involutions j resp. $-$ since $j([z]) = [(-\bar{z}_2, \bar{z}_1, \dots)]$. This implies the upper estimate $s(\mathbb{C}P^{2m-1}, j) \leq 3m$.

To prove the lower estimate denote by $m_h: S^{4m-1} \rightarrow S^{4m-1} \subset \mathbb{H}^m$ the map given by left multiplication by a quaternion $h \in \mathbb{H}$ of norm 1. For $h = (1 + ij)/\sqrt{2}$ the identity $jh = hi$ shows that the map

$$m_h: S^{4m-1} \rightarrow S^{4m-1}$$

is $\mathbb{Z}/4$ -equivariant with respect to the $\mathbb{Z}/4$ -action given by m_i on the domain and m_j on the range. If $f: \mathbb{C}P^{2m-1} \rightarrow S^{t-1}$ is any $\mathbb{Z}/2$ -equivariant map with respect to j , - the composition

$$S^{4m-1} \xrightarrow{m_h} S^{4m-1} \xrightarrow{pr} \mathbb{C}P^{2m-1} \xrightarrow{f} S^{t-1}$$

is $\mathbb{Z}/4$ -equivariant with respect to $m_i, -$. Dividing by the action of $\mathbb{Z}/2 \subset \mathbb{Z}/4$ we obtain a $\mathbb{Z}/2$ -equivariant map

$$(\mathbb{R}P^{4m-1}, i) \rightarrow (S^{t-1}, -)$$

which implies $t \geq s(\mathbb{R}P^{4m-1}, i) \geq 2m + 1$ and thus $s(\mathbb{C}P^{2m-1}, j) \geq 2m + 1$.

4. Additional remarks (to the real case)

1) Our estimates for $s(m) = s(\mathbb{R}P^{2m-1}, i)$ imply $s(1) = 2$, $s(2) = 3$, $4 \leq s(3) \leq 5$, $5 \leq s(4) \leq 6$. Conner–Floyd [CF] proved $s(3) = 5$. For $m > 3$ the exact value of $s(m)$ seems to be unknown.

2) One can define a purely algebraic invariant $r(m)$ as follows: Call a system $q = (q_1, \dots, q_r)$ of real quadratic forms in an even number $2m$ of variables x_j, y_j ($j = 1, \dots, m$) “induced” if there exist complex quadratic forms $\varphi_1, \dots, \varphi_r$ in the m variables $z_j = x_j + y_j i$ such that $q_k(x, y) = \text{Im } \varphi_k(z)$ ($k = 1, \dots, r$). Define $r(m) = \min \{r : \text{there exists an induced anisotropic system } q = (q_1, \dots, q_r) \text{ in } 2m \text{ variables}\}$. Then it can be proved by purely algebraic methods that

$$m + 1 \leq r(m) \leq \frac{1}{2}(3m + 1)$$

The upper estimate has been given in part 2, the lower estimate can easily be derived from Hilbert’s nullstellensatz. (Compare [P] where the inequality $[2r/3] \leq m(r) < r$ for $m(r) = \frac{1}{2}u'_r(\mathbb{R})$ is equivalent to the above inequality for $r(m)$).

It is obvious that $s(m) \leq r(m)$ and it is tempting to conjecture $s(m) = r(m)$. However, we see no reason that the invariant $r(m)$ should be better accessible than the invariant $s(m)$.

REFERENCES

- [CF] P. E. CONNER and E. E. FLOYD, *Fixed point free involutions and equivariant maps II*, Trans. Amer. Math. Soc. 105 (1962), 222–228.
- [DL] Z. D. DAI and T. Y. LAM, *Levels in algebra and topology*, Comment. Math. Helv. 59 (1984), 376–424.
- [K] M. KAROUBI, *K-Theory. An Introduction*. Springer, Berlin 1978.
- [P] A. PFISTER, *Systems of quadratic forms II*, Rocky Mountain J. of Math. 14 (1984), 973–976.
- [S] E. H. SPANIER, *Algebraic Topology* McGraw-Hill, New York 1966.
- [V] J. VICK, *An application of K-theory to equivariant maps*, Bull. Amer. Math. Soc. 75 (1969), 1017–1019.

*Fachbereich Mathematik
der Universität Mainz
Postfach 3980
D-6500 Mainz*

Received March 17, 1986